I'pammatuka: 52.A: Past Passive Participles : Stress

nﬂTbneCH’T BTO péﬁ ypO’K 52.B: The Tense of “Past” Passive Participle

52.B: Sentences With No Obvious Active

52.T": Review of Participles and Gerunds
5 52.1: Text — Part 2 (O moéwm msine)

[52.A Stress in PPPPs

The whole question of stress in PPPPs (especially in the short-form) is rather tricky. Below we’ll present basic
guidelines. But don’t worry, if you're lucky enough to take Third-Year Russian, you'll get all the details.

Recall that there are three endings used to form PPPPs: -u(u)-, -éH(H)-, -T-.
1) PPPPs in -u(H)-: Formed from verbs that have ‘a’ in the suffix of the stem.

One absolute rule is that the ‘a’ preceding the n(u) ending is never stressed.:

So, if the stress falls on the ‘4’ in the stem, it must move back one syllable: npouuTdii+ > npounitanubrii. (It
doesn’t matter if the stress is fixed on the 4 in all other forms.) If the stress normally falls before the ‘a’, it
remains there for the PPPP: cnénaii+ > caémannoe.

Stem with {A} in Suffix Past Passive Participle
(in various CNGs)

Hamuca+ HaIACaHHbII

y6epar (e) yOpaHHOMY

MIPOYUTAN+ MIPOYUTAHHYIO

apecToBa+ apecTOBaHHBIX

yCIIBITIIa+ YCIBIIIaHHBIMA

oCTa+ nOCITaHHOE

MIPOaATh mpOIaHHBIC
% Form the PPPP. Give the short-form feminine.
1. cka3d+ 2. caémait+ 3. HapHCOBa+ 4. mponats
5. mokasa+ 6. HazoBa+ (0) 7. mocnar 8. mommuca+
9. 3amepxa+ 10. BEIOEpa+ (€) 11. ucmyrai+ 12. apectoBa+
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2) PPPPs in -&u(n)-: Formed from u-stem, e-stem and Consonant Stem Verbs (#B/H).

If there is shifting stress in the present tense, then the stress also shifts in the PPPP (kymii+ > Kynuiennblii — don’t
forget about mutation!).

If stress is fixed on the ending (either on the final vowel of the stem 1/é, or following the consonant), the ending
will be én(n): Stressed final vowel 00BuHI+ > 00BUHEHHBII; stress following the stem: npunéc+ >
npunecénnbrii. Otherwise, if the stress is fixed a vowel in the stem (not in the suffix), the stress remains there
and then ending is spelled en(n): (00¥ge+ > 00MAKEH):

Verbs in g and r (ykpas +, noctpur+) have stress on the stem, just as they do in the past tense: ykpana >
YKPAJAEHHBII, MOCTPHUTJIA > MOCTPAKEHHAS.

Consonant, KU-Stem, Past Passive Participle
E-Stem (in various CNGs)

crpocii+ CHpONIEHHbII

KyTIit+ KYILUICHHBIME

chac+’ criacéHHast

nepeBen+ NepeBe/IEHHYI0

HCIEK+ ucrne4EHHbIE

Opocu+ OporeHHAs

HoCTpOU+ MOCTPOCHHBIE

obune+ OO>KEHHOMY

YKpaj+ YKpaICHHBIM

@ Form the PPPP. Give the long-form masculine singular nominative

1. ymusi+ 2. moamér+ 3. wuchék+’ 4. crpocii+
5. pacctpou+ 6. TpUTOTOB+ 7. ykpaf+ 8. 3amomHm+
9. cmac+’ 10. ob¥ine+ 11. mepesén+’ 12. HakopMmit+

3) PPPPs in -1-: Formed from ny-stem, p/B/o/H-stem, and Double-Stem Verbs: Hypsono!
This is where things can get really nasty, especially with double-stem verbs. First the easy stuff:

Stems in H keep the stress on the stem:

OnéH+ ONETHIN

Double-stem verbs whose vowel-stems (on the right) end in u (zoma+ drink up), bi (3akpsr+) or e (cré+) keep the
stress on the stem:

o > .
{nmomnpii+" / mormw+} JIOTINTOMY
{cmoii+" / crié+} criéras
{OTKpOW+ / OTKPHI+} OTKPBITOE

I —
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___________________________________________________________________________________________________________________________]

For double-stem verbs with a vowel-stem in s or a (several of which we discussed in Lesson 41), the stress often
moves to the prefix.

<, > , J v}
{oTHUM+ / OTHS+} OTHSATHIN
) ’ > ’
{motim+ " / moHsi+} NOHSTHIE
< > 2
{mpum+ / mpuHs+} HOPUHSATOMY
’ > ’
{HauyH+" / Ha4ya+} HAYaTas

For “triple-stem” verbs, the stress also moves back to where the stress falls for non-feminine past tense forms:

> ’ I3 v
{3amp+ / 3anep+ / 3amepé+ } 3armepTon

Finally, the very few transitive verbs in Hy never have stress on the Hy in PPPP. In this respect, Hy stems act like
stems with ‘a’ described above.

< 4
oOMaHy+ 0OMAHYTBIC
3aBEPHY+ Wrap 3aBEPHTOE

(There are more details—if you can believe it—, which we won’t worry about for now.)

g@ Form the PPPP. Give the Long-Form Masculine Singular Nominative
1. {cumm+"/ cHsi+} 2. {3amp+ /3amep+/ 3. omém+ 4. ob6maHy+
3anepé+}
5. {momoii+ / moMBI+} 6. {maun+ /Ha44+) 7. Hakono+ 8. meperuibiB+
9. {mambii+' /Ham+} 10. {Bo3bM+ '/ B3s+ } 11. {3aiim+ / 3amsi+} 12. {3akpoOii+ / 3aKphI+}

To be honest, even native speakers sometimes have difficulty knowing where the stress belongs in some of these
PPPPs, especially in the short-form.
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[52.5 Tense of “Past” Passive Participles

As we mentioned in the first lesson on PPPPs, the term “past” may be a bit misleading. Very often a PPPP refers
to a present (or even a future) action. This comes into play most often with the short-form PPPP, where the actual
tense is indicated by the verb be (6b11/4/0/1 for the past tense, & for the present, 6ya+ for the future). Here are
examples of PPPPs used in all three tenses:

Past Present Future
Ona 0bLIA OYeHb paccTpOeHa STuM | OHA OYEHB PacCTpOCHA ATHM Ona 0ymeT OYeHb PacCTpOCHA HTHM
She was really upset by that She’s really upset by that She will be really upset by that
Hamr gom 6611 moctpoeH B 1950 *Ham gom noctpden B 1950 Hamm nom 6yaer moctpden B 2001
Our house was built in 1950 Our house was built in 1950 Our house will built in 2001

* This sentence actually refers to the past; it does not mean Our house is being built in 1950 — that would not
make sense. So, what’s the difference between this sentence and the one to the left, where the Past Tense ObL1
isused? It’s complicated. Wait until third-year.

With long-form PPPPs (in non-predicative position) tense is expressed by the main verb. The fact that a past
passive participle is modifying a noun has no effect on tense.

KTto kynwt / mokymaer / KynuT YKpaJeHHbIS Who bought / is buying / will buy the stolen
OpHITHAHTHI? diamond?
51 oTKpBLUTa / OTKPBIBAIO / OTKPOIO 34TIEPTYIO IBEPE. 1 opened / am opening / will open the locked door.

[| 52.B Passive Sentences Without Obvious Active Counterparts ||

Up to now we have more or less implied that passive sentences are somehow “derived” from active sentences—

with certain predictable changes (active object becomes passive subject, active subject goes into instrumental in

passive). There exist many passive sentences, however, for which there is no obvious “original” active sentence.
Let’s look at two types.

52.b.1 Passive Sentences With Clausal Complements

Sometimes a transitive verb can take an entire clause (beginning with uroe) as a complement: They
decided/determined that... To passivize such sentences, use the short-form neuter third singular PPPP followed
by uto + the clause. In some cases the active sentence contains a subject, which can be expressed in the
instrumental in the passive.

I E——
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___________________________________________________________________________________________________________________________]

[Monmnumeti OBUTO yCTaHOBIICHO, YTO yOUHIIA — It was established by the police that the murderer
OIIOHITVH BBICOKOTO pOCTa. is a tall blond man.

Henasuo ObL10 00BSBIICHO, UTO MPE3UACHT MOENET HA  Recently it was announced that the president will
Ky0y. go to Cuba.

Bbruto pemeno, 94To He KOHIEPT OYAET BTOPOTO UIOHA It was decided that the concert will be at the new
Ha HOBOM CTaJnOHE. stadium on June 2

Byner oOHapy»xeHo, 9To NEPBBIE JTIOAN Ha 3eMIIE 1t will be discovered that the first people on earth
KWK Ha TepuTOpun Kutas. live in what is now China.

Note the following, with a dative indirect object. In fact, dbL710 cka3ano + dative is a commonly used
construction.

Te6é OBLTO CKA3aHO, YTO 3/1ECh HEJIb3S KyPHUTh. You were told that there’s no smoking here.

Often, however, an “empty” onn-form of the verb is used, in which case no passive form is used. Instead, the
onu-form is used without a pronoun:

Mewst nprssTH! Iwas accepted!
ApecroBamu er6 u OpOCHIN B TIOPEMY. He was arrested and thrown into jail.
52.b.2 Complete “De-focus” On the Original Subject

In other cases, the passive sentence contains absolutely no focus on the “original” subject — either because the
speaker simply doesn’t know, or doesn’t care who performed the action. In the first example below, the speaker
feels no need to mention that certain Japanese car workers built his/her car. It’s obvious that someone built the
car; it’s just not of any concern who it was. In the second example, the speaker probably has no idea who actually
built the church. In the third example, it’s difficult even to image what the exact subject of an active sentence
would be—something like “the shaking.”

Most MmamiiHa OB ciénana B InoHMM. My car was made in Japan.
Sra 1uépkoBb 6bLIA MOCTpOEHA B 1532 rogy. This church was built in 1532.
Hx mom ObLIT pa3pylieH BO BpEMS 3eMIICTPSCEHUS. Their house was destroyed during the earthquake.
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[52.I' More Practice With PPPPs

As we said in Lesson 47, of the four types of participles, PPPPs are the most commonly found, and therefore
deserve the most attention. Let’s look again at some active sentences and their corresponding passives (if they

exist). Be sure to go over these carefully.

Short Form (No koTopbi# in active sentence; PPPP has single ‘H’ or ‘T’)

Active

Passive

Bce 3améTrim 3TOro CTpAHHOTO YeTOBEKA.
Everyone noticed that strange person.

DTOT CTPAHHBIN YeNIOBEK OB 3aMEUYCH BCEMH.
That strange person was noticed by everyone.

Maia ucrpaBuT ONIAOKY.
Masha corrected the mistake.

Ommbka Oyer ucnpasieHa Marei.
The mistake was corrected by Masha.

Hyira npuBe3na MAImyniyo MaliiHKYy.
Nina brought the typewriter.

ITimrymmas mammnka Opi14 npuBe3eHa HiHo.
The typewriter was brought by Nina.

Képry nosécumnu Ha cTéHy.
(They) hung the map on the wall.

Képra Opu1a IOBEIIEHA Ha CTEHY.
The map was hung on the wall.

Koctst momor 6émnomy mpodéccopy.
Kostya helped the poor professor.

N/A (momor takes dative)

Ero6 6a0ymika ymepia B mpOIIIOM Oy .
His grandmother died last year.

N/A (ymepna is intransitive)

Long Form (Accusative koTopbiit in active sentence; PPPP has double ‘HH’ or single ‘T’)

Active

Passive

S B BOCTOpTE OT (prsTbMa, KOTOPBIN cHsT béprmaH.
I’'m crazy about the movie which Berman made.

S B BoCcTOpTE OT (prisibMa, cHsIToro béprmanom.
I’'m crazy about the movie which was made by Bergman.

Tol 3HACIIB 1EBYIIKY, KOTOPYIO 0OMaHyT MuTs?
Do you know the young woman whom Mita deceived?

ToI 3H4EIE OOMAHYTYI0 MHATEH AEBYIIKY?
Do you know the young woman who was deceived by Mitya?

We were talking about the picture which Kolya drew.

MBI TOBOpIITH O KapTHUHE, KOTOPYIO HapucoBan Kos.

Mpe1 roBoprii 0 HapucOBaHHO# Koueit kapTiHe.
We were talking about the picture which was drawn by
Kolya.

S cupéna pAnoM ¢ CeHATOPOM, KOTOPOTO MPEpBAT
TIPE3UIEHT.

I was sitting next to the senator whom the president
interrupted.

S cupéna pAaoM ¢ CeHATOPOM, TPEPBAHHBIM
TIPE3UIEHTOM.

I 'was sitting next to the senator who was interrupted by the
president.

Ha yriry cTonT 4enoBEéK, KOTOPOTo Bee OOSATCH.

On the corner is standing the person whom everyone fears.

N/A (bosites is intransitive; here xotoporo is actually
in genitive)

1 don’t respect the man for whom you voted.

51 He yBaXkaro 4el0BEKa, 3a KOTOPOTO BBl TOJIOCOBANIH.

N/A (Kotoporo is accusative, but is in a prepositional
phrase following 3a.)
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9.

@ Passivize the sentences, when possible

[TpyHsm Pe6€kky B METUITMTHCKUH KOJUIEIK.

OHY HAaKOHEI HAIIUTA OPWJUTMATHBI, KOTOPBIE YKPAT MOH JsINIA.

3/1ech HE XBaTAeT JIOACH, KOTOPhIE TOBOPST MO-HEMEIKH.

Thl MOMHUIIB JEBYIIKY, KOTOPYIO MBI IPUTJIACUIIN HA BEUCPUHKY?

BaM cka3zanu, 4To TaM OITACHO XOIUTh.

S1 He Mory HalTH OyMAry, KOTOpbIE OHA 3aIOJIHIIIA.

ToI 3HAKOM C Y€IIOBEKOM, KOTOPOTO Ha JTHAX OOBHHIIIN B KPAXKE MAIINHBI?
OHY CIUICTHUYAIOT O MAPHE, KOTOPOTO BCE 303 0PIIIH.

41 B BocTOpre oT xn1€0a, KOTOPBIN HCKEKIH B 3TOH OYIOYHOM.

10. Cama 6ueHb paccepIiICs Ha JKEeHY.

11. Yro ThI 3HAETIH O KApTHHE, KOTOPYIO HAIIIA B TIOABATE?

12. OOBABANH, YTO IPE3UAEHT MOENET Ha AJIACKY.
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[ 52.B PPPPs: Text — Part 2 (O moém 6égHom asige)
(Be sure to go back and look at the first part of the story in Lesson 47.)

o

1 B MarazriHe Hali 3alicKy, HAlTMCaHHYI0 BOPOM, 1 OBUIO yCTaHOBJIEHO, 9TO 3TO OUepK Moero nsinu. Ha
2 OCTABIICHHOU OyTBIJIKE TIMBA, BRIITUTON MPECTYIMHUKOM, OBUTH HAHICHBI OTHEYATKH NMAJBIEB MOCTO JIS/IH.

3 He ndmus o 661bmI0M yenéxe, TOCTUTHYTOM MOUM [ISIICH, JIFOJTH HE TOBOPSAT O NETAX, 3AlIUINEHHBIX UM OT
4 31bIX c004k. KTo Tenéph roBopuT 00 ucnedéHHoM uM s 6¢HbIX X1€6e? Hukro. Y HUKTO HE TOMHUT

5  JHCCepTAINIO, 3aKOHYCHHYIO MOUM JISACH, KOT/IA eMy OBUIO TOJIBKO IIECTHAIIATE JieT. BeeM Hamoéno

6  TOBOPHTH O IOPOTHUX MOJAPKaX, MPpUBE3EHHBIX UM n3 OpaHiuu s aetéid. KTo Tenéph YUTACT CTaThH,

7  mepeBeAéHHBIE UM C HEMEIKOTO HA pycckuii? Bce TOIBKO CIUIETHUYAIOT O CIIOHAX, CITYYalHO YOUTBIX UM

8 nécsTh JieT Ha3d . OH OUeHb yAMBIIEH U PaccTPOEeH BCEM 3THM.

CnoBapb

1 | 3ammc/ka (0) note

1 |BOp thief

1| ycranosi+ establish

2 | oTneuart/ka (0) MAIbICB finger prints

nauer (e) (Other forms begin mameIr-)

3 | 3ammmai+ // 3amuta+ (T > 1) defend (in various senses)

4 | nék+ " // uc- bake (We saw this verb before, but never with the
perfective prefix uc-.)

7 | mepesomii+ // mepeBén+’ ¢ [genitive] Ha [accusative] translate from one language(c +genitive )into another
(Wa + accusative)

8 | paccTpauBaii+ // paccTpOu+ upset someone
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25 YnpaxHéHue 1
25 YnpaxHéHue 2

1.

25 YnpaxHéHnue 3

1)

2)

3)

4)

5)

6)

7)

00BHHUI+
A3MEHHU+
{cHuM+ / cHsi+}
OJIEH+

OCTABHU+

OH cuaén Ha JUBAHE,

HdomawHee 3apaHue
Translate the text into natural sounding English.

Form a PPPP, when possible. Use any CNG you wish.

2. CcIIOMai+

4. mnepeBés+’
6. obnge+

8. Hameuaraii+

10. {mwit+ / i}

Select the correct gerund or participle form.

0 CBOEM HOCE.

a) Mo IyMaBIIx 0) nymas

S Buepa nan néHpru

B) AyMaB T') IyMAaroIIHi

HaM OWJIET Ha OTIEPy YEJIOBEKY.

a) MoJapUBIINN 0) moapuBIIEMY

Bépa ymuna, Hukém He

a) 3aME&veHHas 0) 3aMéTHB

[pungres cnomMarth

a) 3anepra 0) 3amepTy

51 He 3HAKOM C MY>KYHHOH,

B) TIOJIapUB T) JapsiemMy

B) 3aMeyYaroias T) 3aMeYast
JIBEPb

B) 3amepras T) 3aepPTYI0

Ha OapaOawne.

a) urpas 0) urparommii
Mp1 OpUTH
a) cracéHele 0) cacaromme

UTo ThI 3HACIIH O CTYIEHTAX,

B) UTPABIINM T) UTPaB

3TUM CIIOHOM.

B) CITACABIIN T) CIIaCEHBI

3Ty cTaThIo?

a) YUTABIIHE 0) unTas

B) IIPOYNTAHHYIO T') YATAIOIINX
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